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PP81 | 0,00000 0,00 0,55

7,25 0,00 0,00 0,00 6,68 334 2422
PP83  0,00725 0,00 6,13

15,67 0,00 0,00 0,00 13,29 6,65 104,13
PP86 = 0,02292 0,00 7,16

4,13 0,00 0,00 0,00 13,99 7,00 28,89
PP87  0,02705 0,00 6,83

4,58 0,00 0,00 0,00 16,48 8,24 37,74
PP88  0,03163 0,00 9,65

4,64 0,00 = 0,00 0,00 17,18 8,59 @ 39,86
PP89  0,03627 0,00 7,53

4,07 0,00 0,00 0,00 16,31 8,16 33,19
PP90 = 0,04034 0,00 8,78

15,67 0,61 0,31 4,78 14,01 7,01 109,77
PP93 | 0,05601 0,61 5,23

7,25 0,61 0,31 2,21 720 360 26,10
PP95  0,06326 0,00 1,97

SOUCET 6,99 403,89




